e d 2
b, lon O ¢ {710!//\ Lo execute,

D24 we__announce  our Tgsoludn 10 S0etyane,
(@
| \

e are unable to o

Sr—Rok iy we  end Lp looking

- AR J

il.. ! l 0
“i }
o .

»

PODp e

ﬂ €, o Wde WA r gsotaj{(ﬁ_f_\, he qave Q.

Lo excuse o0 o/ vraking e resolutfon becase
=1 J i 4 S I i

I8 lhe ovendignt  porty on New Veor Eve.
J | There should be at least 2 sentences in
b 'your answer and your answer should be

il
‘ - 5-7'lines long.

G = Formy OO e i

| elbminish, waned —



M. Ali Raza
do not

M. Ali Raza
are unable to

M. Ali Raza

M. Ali Raza

M. Ali Raza

M. Ali Raza

M. Ali Raza
There should be at least 2 sentences in your answer and your answer should be 5-7 lines long.




